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QUESTION 2. (8 points). Find 3 and do not simplify
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QUESTION 3. (4 points). Let Q = (2,4), A = (4,6). Finda point B on the line y = —2 such that |@B| + |AB| is
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QUESTION 4. (4 points). For what values of  does the tangent line 10 th y = 4¢'*) — 261 42 have slope equal
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QUESTION 6. (8 points). Given y = z2 - 8 +25
(i) Roughly, Sketch the graph of the given parabola,
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QUESTION 7. (4 points), F{p‘d the constant i and the foci of the ellipse (-'B';z) + (y]63) = 1
(_K..)Z: 16 %‘*‘
T
x|y oG
1 -
K= Uxz 2= =3 2.6) o
k= % e, o> 33) = ( o) 1L
€2 =(- 2,3-%) = (-2

QUESTION 8. (4 points). Can we draw the vector < 6,1, -2 > inside the plane 2z — 6y + 3z = 207 EXPLAIN
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QUESTION 9. (3 points).
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Figure 1. Question: The arca of the region that is determined by the curve of f(x) between x =__-_§ and x =2is 10, and
the area of the region determined by the curve of f(x) between x =2andx=4 is 7. Find jﬂ' flz) dz
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QUESTION 10. (6 points).
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Figure 2. Question: We want to construct a rectangle with maximum area inside the semicircle ¥ = V16 ~ 22 (see
picture). Find the area of such rectangie
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QUESTION 11. Lety = —z3 + 12z + 2
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(v) For what values of = do the slopes of ‘tangent lines are
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(vi) What is the equation of the normal line to the curve of f(x) at the point (I, 13)?
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